6º ano, correção das págs. 71 à

6) b) An
c) A
d) An
e) An
f) A
g) A
h) An
I) A

7) b) She is Italian dentist
c) That woman is an american teacher
d) that man is a portuguese engineer
e) Elisa is a spanish nurse.
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8) 1 c
2 e
3 c
4 b
5 d

10) b) There aren’t
c) Are there
d) There isn’t
e) Is there

11) a) fifteen
b) two
c) 2
d) Five
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b) Yes, there is.
c) No, there isn’t
d) There is one.
e) There are two
f) Yes, there is.
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13) a) F
b) T
c) F
d) T
e) T
f) F
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1) b) Her name is Alcinda. She is twenty- Five years old and she is a secretary. She is Portuguese.
c) His name is Pablo. He is twenty years old and he is a soccer player. He is spanish.
d) Their names are Keith and Albert They are thirty-nine years old and they are Police officers. They are english.
e) Her name is Sandrine. She is twenty-seven years old and she is a hairdresser. She is american.

2) There is – the
    The – there are – 
    An – a
    There isn’t – garden

3) a) X
